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1. ldentify the solution for the inequality (5x+10)<0,x€Z
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2. Identify the solution for the inequality (3x—6)>0,x€Z
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3. Identify the solution for the inequality (7x—14)=<0,x€Z
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4. ldentify the solution for the inequality (-6x—42)=0,x€Z
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Which of the following figures represents the solution set
{-4,-5,-6,-7,-8,-9,...}
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Which of the following figures represents the solution set
{-10,-11,-12,-13,-14,-15,...}
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Which of the following figures represents the solution set
{3,2,1,0,-1,-2,...}
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Which of the following figures represents the solution set
{0,-1,-2,-3,-4,-5,...}
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Identify the solution for the inequality
16 <(7x—-2)<29,x€Z
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Identify the solution for the inequality
" (-16)<(-7x+1)=11,x€EZ
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Identify the solution for the inequality
" (-1)=(—-4x-5)=<23,x€Z
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Identify the solution for the inequality
" (=3)=(3x+7)<14,x€Z
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Identify the solution for the inequality
" (=5)>(—4x-2)>(-21),x€Z
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Identify the solution for the inequality
" 4>(-3x—-8)=(-13),x€Z

(V)

(i) v (i) ne oGii) 1oGiv) N



Identify the solution for the inequality
10=(7x4+2)=(—-17),x€Z
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Identify the solution for the inequality
" 4=(-2x-5)>(—-4),x€Z
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Identify the solution for the inequality
(-3x—12)<0,xEN
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Identify the solution for the inequality
(x—5)=0,xEN
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Identify the solution for the inequality
(6x—18)>0,xEN
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Identify the solution for the inequality

(2x—16)=0,xEN
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